
E
R

S
A

T
Z

T
E

IL
E

 N
O

T
E

N
P

U
LT

E

10100.000.55 schwarz

EN
101

101 Taschenpult

-7/05-

Position Bezeichnung Artikel-Nr. Stück

1 Parkettschoner 9 x 3 mm 01.94.550.55 3
2 Klemmschraube mittel M5 x 9 mm 01.81.910.55 1
3 Klemmschraube klein M5 x 9 mm 01.81.285.55 2
4 Schloßschraube M5 x 15 mm 03.07.120.01 1
5 Dreher 01.44.522.01 1
6 Flachrundkopfniet ø 3 x 8 mm 03.62.065.01 2
7 Kopf kpl. 6.10100.1.55 1
8 Einrastführungsbuchse 01.86.285.55 1
9 U-Scheibe ø 5,3 mm 03.11.310.29 1

10 Klemmutter mittel M5 01.81.890.55 1

1

2

3

8

9

10

4

5

6

7


